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1 �������������������

1.1 ���������

��������������������������

1. ���������������������������

�	�
��������������
�������

���������������������	��

�� 1 (������) ����������������

������	����	����� 4 ��

����
��
��F ��������PQ ���	�V

����� P ′, F ′ ��� P, F 
�����
�

F

P Q

F ′P ′

V

���������FV = V F ′, PF = PP ′�� PF = PP ′ =

FV + V F ′ = 2FV��

PQ = PF + QF = 2PF = 4FV.

�������	����	����� 4 �� �

�� 2 (������) �������

sin θ =
2 tan θ

2

1 + tan2 θ
2

.
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������ tan θ
2 =

sin θ
2

cos θ
2

�	

2 tan θ
2

1 + tan2 θ
2

=
2

sin θ
2

cos θ
2

1 +
sin2 θ

2

cos2 θ
2

=
2 sin θ

2 cos θ
2

cos2 θ
2 + sin2 θ

2

= 2 sin
θ

2
cos

θ

2
= sin θ,

��� �

�� 3 (�	�) ��

f(x) = x(x − 1)(x + 1) + 0.1 = 0

������

������

f(0.5) = 0.5(−0.5)(1.5) + 0.1 = −3

8
+ 0.1 < 0,

f(−0.5) = (−0.5)(−1.5)(0.5) + 0.1 =
3

8
+ 0.1 > 0,



	������
 0.5�−0.5��������� f(1) =

0.1 > 0, f(−2) = −2(−3)(−1) + 0.1 < 0�� 1 � 0.5 � −0.5

� −2 ����������� �

2. ��������
����������	������

����������
�����������

�� 4 � P (x0, y0) ��� Γ : x2

a2 + y2

b2 = 1 (a > b > 0) ���

��O(0, 0) ����

(1) ��� |x0|
a ≤ 1�

(2) �� x0

a = cos θ (0 ≤ θ < 2π)��� y0 �
 b � θ ��

	�

2



(3) ���a ≥ PO ≥ b��
��� ≥ �������	�
	� ≥ ����	�

��������������������������

�������
��� ≥�������	�	� ≥��
���

(1) �� x2
0

a2 ≤ x2
0

a2 + y2
0

b2 = 1�

 |x0|
a ≤ 1�

(2) � x0 = a cos θ ����������

y2

b2 = 1 − a2 cos2 θ

a2 = 1 − cos2 θ ⇒ y = ±b sin θ.

(3) �� a ≥ PO��� a > b �	

PO =
√

a2 cos2 θ + b2 sin2 θ ≤
√

a2 cos2 θ + a2 sin2 θ = a.

�� PO ≥ b����� a > b �	

PO =
√

a2 cos2 θ + b2 sin2 θ ≥
√

b2 cos2 θ + b2 sin2 θ = b.

�

3. �����	����������������
���

�������
�������������	�

�� 5 ���������
Æ� a, b ��� 1 �����

� a + b − ab < 1����������������

(1) �� a < 1, b < 1�

 a + b < 2�

(2) �� 0 < a < 1, 0 < b < 1�

 ab < 1�

(3) ��	�����
	�	

(a + b) − ab < 2 − 1 = 1,

���

�
���������
�����

�������

�����������������������
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�����

� (3)������������
Ǳ���


	��������� a < 1, b < 1�

 1− a > 0, 1− b >

0��

1 − a − b + ab = (1 − a)(1 − b) > 0.

�� a + b − ab < 1� �

1.2 ����������

���������������

(1) �������������������
���
��

�	��
���
�	�������
�������

����	�

(2) ��
������	�������

(3) 
����


�����
��
��������������
�


���������������������	������

���	�������������

1. ���������

�� 1 ��� ABC ��� a, b, c��
� �� R���

a, b, c ��
 R������ ABC �!����
 150 ��

�� 2 � A, A′ 

�� BC �	� �" ∠A = ∠A′��
��A, A′, B, C #����

�� 1 � �� 2 ��������	����
����

��������
�����������
��
��

������
��������������
	�
�

��
��

2. ��������
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�� 3 
���Æ������������$�

��� ≥ �������	�	� ≥ ����

%����
�������������
 
���

������������ > �������������

> �������

�

�

�
�����

�������������
�������������

���&������$���������������

�� 4 � f(x)������������� f(x) = 0�
�

��� x1, x2, x3, · · · , xn " x1 < x2 < x3 < · · · < xn�����

������'��!	�
������ x1, x2, x3, · · · , xn

�������� n + 1 �
��
��
��

�
x1 x2 xn· · ·

(a) �� x 
���
�������	�f(x) (����

�����

��
�� f(x)�����
 +�−������� +,−

�
�

��	)	%��������� f(x) �

������ f(x) = 0�� n�

����*����

�	 n + 1 � +�− 
���"�
 f(x) = x2 − 3x+ 2 =

(x − 1)(x− 2) ���� x < 1 ��f(x) ��� 1 < x < 2

��f(x) ���x > 2 �� f(x) ����#� f(x) ��

���� + − +�
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�

�

1 2

2

1

x

y

(b) � f(x) = (x − 1)2(x − 3) ��#��������$�

(c) � f(x) = x4 + ax3 + bx2 + cx + d�a, b, c, d ������

���������������
������

1. ++

2. + + +

3. + − +

4. + + ++

5. + − + − +

(d) � f(x) �+!�������" f(x) ������ + +

−+ +����� f(x) = 0 ��������	����

	�

���������������������������

���������������

���������(������
������
��

��������
#����	
����������

� + 
� − 
��#�������!����

��
����	��#�����#Ǳ��� (b) �����

3. ������

�� 5 Æ��� x, y 	
��� 5x2 + 4y2 − 10x = 0��

x2 + y2 �����

		���
��
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1. 	Æ� 5x2 + 4y2 − 10x = 0�� y2 = 1
4(10x− 5x2)�

2. 



x2 + y2 = x2 +
1

4
(10x − 5x2)

= −1

4
x2 +

10

4
x

= −1

4

(
x2 − 10x + 25

)
+

25

4

= −1

4
(x − 5)2 +

25

4
.

3. �� x = 5 ��x2 + y2 ���� 25
4�

��,���

�����������

��
�������%�������	�������

�
��������
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2 ���������

�Æ�����������

������������
�������

1. ���
��	�������
�����	��-��

��
$�.�

�� 6 � C, D �����D �
 �
 C �������

� D � ��
� C � ��

�
��������/����	�����
��.�

2. ���
��	����������
������	�

���

�� 7 ������
∣∣∣∣∣∣∣∣
0 a b c
−a 0 d e

−b −d 0 f
−c −e −f 0

∣∣∣∣∣∣∣∣
≥ 0.

#��������������
����������

��

3. �&��
��
���'��
����

�� 8 
���D ��� AB ����DE//BC��� E �

��� AC ����

A

B C

D E

������ DE//BC�

 AD : DB = AE : EC����

�
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�0(�

����1����
�����#�	��

��������

4. �&�������
&�

�����	������

�(����
���#�	2�������

�� 9 
���A, B ��� x2

a2 + y2

b2 = 1 ������� a, b

������ P ������������������

ABP ����	�$�

����� P ��3�	� AB 0(	

�

�

x

y

P

A

B

�
�
������


�������������
�������� �ABP �

	����	�0(��)��"�3���	�����

	*����

5. �������Ǳ	�������������
�

�Æ�����������

����4+�	����
�������

1. ������� ��"����
�����!�	��


��
��
������

(1) 
 f(x)������	�� f(x)����������

������

(2) 
 a, b������� a, b��� (x, y) ����
��

��������5�����
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2. .���
 ���
�����������������


��

(3) 
 PQ ���� PQ���
��
��

��#�


������	������	
 PQ ���� PQ�

�	
*���� PQ����	�*����� PQ �

��	

(4) �����
6��������
6��2���

(5) ���
����

3. ����
�����
������!��������


��

(6) ��������������	��!�

a. ��������#�	

b. ����$�#���+�	

7�
�����������	�
���������

0(������

4. ��4+�����!����

(7) 
� b2 − 4ac > 0�������� ax2 + bx + c = 0 ��



����!����� ax2 + bx + c = 0 �����

����
� b2 − 4ac > 0��#�����

���

7����
�������	������	�����


���

�Æ�������������


����������
	���������������

���������	���	Ǳ
�����

1. ���������	
���������������

���#����	�&�
������������
$

�.��
���������
��	���
 ∠C = 90◦

��	�����������
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2. ���������
�������8��������

����

��
�������������/���

����

3. ����
��������
��&�
�������


�����!������&����

'������

	������������#���(����
���

����	�$�

��
�
	������������	��������

�����!����-�9"�
������,

���

������
�����������	���
�
���

�����	��
:
��

�����Æ�����

�����Æ�����

�����Æ�����

�����Æ�����
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3 ��������������

��
�
��������
���������������

��������������������������
�

�����#���������������(������

��������
6-�����������������


$��Ǳ�����#�
���������������

��������������������������
�

�������������
$��������,
���

�,��;�������

3.1 ��������������

�������

Ǳ�����	
��������������5�����

���

������ n ������� Fn = 22n

+ 1����� m � n

�
����� Fm � Fn <	�

���������$��� m < n "� 22m

= x��

Fm = x + 1.

�������Fm = x + 1 �

Fn =
(
22m)2n−m

+ 1 = x2n−m

+ 1 = f(x)

����

f(−1) = (−1)2n−m

+ 1 = 2.

	�	
����

(Fm, Fn) = (Fm, 2) = 1 ��� Fm ���	.

�# Fm � Fn <	� �
������

#�
������
/������
�������.
�

�#���
�#�!�
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����Æ� x, a ������� x + 1 � xa + 1 <	����

a !��+���
���������

����Æ� x ������� x + 1 � x4 + 1 <	�

�������#�!�������

��
� (1) ������<	����

(1) � x ������� x + 1 � x4 + 1 <	�

�������x+1� x4+1����� (−1)4+1 = 1+1 = 2�

����	
���x + 1 � x4 + 1 �5��� x + 1 � 2 �

5��
��� (x + 1, x4 + 1) = (x + 1, 2)��� x ���

��

 x + 1 �����# (x + 1, 2) �5��� 1���


	�x + 1 � x4 + 1 �5��� x + 1 � 2 �5��
��

� (x + 1, x4 + 1) �5���� 1�

��<	�

(2) ��=� (1) �������� x, a������� x + 1 �

xa + 1 <	�

�������

Ǳ�����������	���������#�����

���

������ a, b, c ��������1	√
a2 + b2 − ab +

√
a2 + c2 − ac �

√
b2 + c2 + bc

���������
$��$�

����
0����� OA, OB, OC  �

OA = a, OB = b, OC = c, ∠AOC = ∠BOC = π/3, ∠AOC = 2π/3.

	�	�����AB, BC, CA ������√
a2 + b2 − ab,

√
b2 + c2 − bc,

√
a2 + c2 + ac.

�� A, B, C ������

�	�����√
a2 + b2 − ab +

√
a2 + c2 − ac ≥

√
b2 + c2 + bc.

�
�$���(��)� A, B, C ������

1

a
+

1

c
=

1

b
.
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�
������

#�
������
/������
�������.
�

�#���
�#�!�

�������!������

a. Æ���� a � b���/�� 60◦ � 120◦ ������√
a2 + b2 − ab �

√
a2 + b2 + ab�

b. ���

��������/����	������

�������
�����
�
	�%��
�$����

)�

��#� ��
� (1) ������������

(1) 
��
��

60◦ 60◦

A

B CD

a b

l

�ABD =
1

2
al sin 60◦ =

√
3

4
al;

�ACD =
1

2
bl sin 60◦ =

√
3

4
bl;

�ABC =
1

2
ab sin 60◦ =

√
3

4
ab.

	
��
Ǳ�
����	 (a + b)l = ab�� l = ab
a+b
�

(2) ��=� (1) � ∠A = 60◦ ��������
 a, b ��	�

�������

Ǳ���������� (x − a)|(f(x)− f(a)) ��	�

������>������������&���
�0��

	
1?
 336������������������	�@�

14



��&�������������������
��	�


�	
����*���������������
��	�

�Ǳ����&�����
�� 7 ���1 7 �������

�&���������	 77 � 85 �������&����

”�������������”�������������&

��
��0��

��������&������� f(x)������� a��

��
��	
��	���� L��������⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

f(7) = 77

f(L) = 85

f(a) = 0

7 < L < a

⇒

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

(a − 7) | 77

(L − 7) | 8 = 85 − 77

(a − L) | 85

7 < L < a

⇒

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

a = 8, 14, 18, 84

L = 8, 9, 11, 15

(a − L) | 85

7 < L < a

⇒
{

a = 14,

L = 9.

�#����&����� 14��

,�

1?
 350��

�
������

���������
���


1. �� f(x) ������" a ��������(x − a) (�

f(a) − f(b) ���

2. �� f(x) �������a > 2 " f(a) = 10, f(2) = 3��

��a = 3 � 9�

3. ���

����� P (x) �������" P (3) = −20, P (100) = 174�

Æ� P (x) = 0 
 3 � 100����������#����$�

15



����� a�A
 3� 100��������� (x−a)|(P (x)−
P (a))��	 {

(a − 3)|20

(100− a)|174
⇒ a = 13.

3.2 ����������

�����#�

��
 (1, 0, 0) � (0.0.1) ������� z-��	������

���#�����0� x = 2 
B�������

(A)�� (B)� (C)�� (D) ��� (E)�2�

���
�
��������

����P = 28%�

����D = 0.43�

������

��������������������
�������

��B���2����#2����

����

a. ����"B
#����##�
B�����0(#�

��

b. ��������"B
#����##�
B�����

����

����Æ����
�0(	���	��"�������


����������C����������������

�����	�

�����D�

Æ��� (1, 2, 2) 	�� x2 + y2 + z2 = 1 
�
�3��3�


	
��0����#0������

���
�
�������

������

����
��0����� (2, 0) �� x2 + y2 = 1 �3���

�3�� x ���

16



������������ P 
��
�3��3�
	���

�����+�

� a ������������ x3 + x2 − x + a �������

�$�

(A) ������

(B) �����������

(C) �����������

(D) ������

(E) �������

���
�
�������

����P = 49%�

����D = 0.48�

������� a, b�������!��� y = x3 +ax2 + bx�

����� x��������x3 �
����� ax2 � bx��

#�
%�� x �%�'��
���	��'�"(����


��
��

�

�

x

y

������������#) c > 0�� x3 + ax2 + bx = c �!

������
��
��

�

�

x

y

y = c

17



3#���

(1) � a, b, c ����"�� d > 0�������

x4 + ax3 + bx2 + cx = d

�!������

(2) ��� d > 0�������

x4 + x2 = d

�*������

3.3 �����

���������2��������
���?������

����,�������

��2��

1. ��
 (1, 0, 0)� (0, 0, 1)������� z-��	����

�����#�����0� x = 2 
B�������

(A) �� (B) � (C) �� (D) ��� (E)�

2�

� �88 ��� ,P = 28%, D = 43%


2. � P ���� Γ : y = x2���������� a�" a > 0�

�� L �� P ��3���	 Γ, L �x-�

�
���

	�� �86 ���


3. E��� x2+y2−2x−4y−95 = 0� x2+y2−8x−12y+48 = 0�

�#��������

�A	 0 �B	 2 �C	 3 �D	 5 �E	 8

� �85 ����P = 96%, D = 12%


4. 
�����
� P (2, 1, 3) �� Q(4, 5, 5) ��� PQ ��

�0��� �

� �88 ���P = 48%, D = 80%


18



5. �
��� ∣∣∣∣3x + y − 19√
10

∣∣∣∣ =
√

(x + 1)2 + (y − 2)2


������� Γ���$����

(1) Γ �����

(2) (1,−2) � Γ ����

(3) 3x + y − 19 = 0 � Γ �����

(4) x − 3y + 7 = 0 � Γ �����

(5) (3, 1) � Γ ����

� �86 ���P = 37%, D = 44%


6. ��
����������	��� 75π � 27π�� P �


������ P �	������x-�����
���

P ����� �

� �85 ���P = 18%, D = 45%


���

1. �����!��� x2 + x + c = 0 ��� a, b 
���

���" 1
a ,

1
b
���#�������� a2 + b2 ����

�

� �89 �	�


2. �
��� f(x) = x4 − 15�����$����

(A) f(x) = 0 
 1 � 2 �������

(B) f(x) = 0 
 −2 � −1 �������

(C) f(x) = 0 (��
 2 ����

(D) f(x) = 0 (��
 −2 ����

(E) f(x) = 0 �#����

� �89 �	��P = 54%, D = 67%


3. Æ� y = x(x − 1)(x + 1) ���
��
��
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�

�

x

y

−1 10

E�
 f(x) = x(x − 1)(x + 1) + 0.01����� f(x) = 0

(A) ������

(B) � x < −1 ������������"�����	�

(C) � −1 < x < 0 ��������

(D) � 0 < x < 1 ��������

(E) � 1 < x ��������

� �88 ����P = 50%, D = 80%


���
�

1. Æ��� (11, 2, 3)	�� x2 + y2 + z2 = 1 
�
�3��3

�
	
��0����#0������ �

� �89 ���


2. ���#0� x = 0, y = 0, z = 0, x + y + z = 1 
��#�

	��##�	��3��� �� ����

'�������������	

� �87 ���


3. � A, B, C ����

����"�
������
��

�&)�� D� � A, B, C.D ���0(#���#��

������ D �����!��

� �86 ����P = 71%, 35%


4. 
�����
� P (2, 1, 3) �� Q(4, 5, 5) ��� PQ ��

�0��� �

� �88 ���P = 48%, D = 80%
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5. Æ��� L1, L2 B
 (1, 0,−1)�"
<�����

L1 :

⎧⎪⎨
⎪⎩

x = 1 + t

y = t

z = −1

t ���� L2 :

⎧⎪⎨
⎪⎩

x = 1 + t

y = −t

z = −1 − t

t ����

�
 L1 ��� L2 �	����0���#0������

$�

� �85 ���P = 53%, D = 43%
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4 ������������

4.1 �����

�Æ����������


	�����
���*��
�����

y = f(x) = ax + b

����	���	������
�
� f(0) < 0, f(1) < 0�

�����������
�A
 0 � 1 ����� x ��

f(x) < 0�

�

�

0 1

y = ax + b

�������#����������

�� 1 � p, q, r ���	


0 < p, q, r < 1

������

pq + qr + rp − 2pqr < 1.

�����
����������
��#������

���-�$���������� y = f(x) = (p + q − 2pq)x +

pq − 1�� p, q ��*����	�� x = 0, 1 ����	

f(0) = pq − 1 < 0; f(1) = p + q − pq − 1 = −(p − 1)(q − 1) < 0,



#��
 [0, 1] 
���������#

f(r) = pq + qr + rp − 2pqr − 1 < 0.
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���

�������

1 − (pq + qr + rp − 2pqr)

= (1 − pq − r + pqr) + r(−q − p + pq + 1)

= (1 − pq)(1 − r) + r(1 − p)(1 − q) > 0.

��$���������������
��

p · q · 1 + 1 · q · r + p · 1 · r − 2p · q · r < 1 · 1 · 1.
�$����
���

1 · 1 · 1��� X, Y, Z �����) 1 ��
��$�	�		�

p · q · 1��� X, Y, Z �����) p, q, 1 �����	�		�

1 · q · r��� X, Y, Z �����) 1, q, r �����	�		�

p · 1 · r��� X, Y, Z �����) p, 1, r �����	�		�

p · q · r��� X, Y, Z �����) p, q, r �����	�		�

����+	���$�����F���

�������Ǳ�����������������-�

p, q, r ��G��	���������
��������4


-��

�������2��Ǳ
����� a1, a2, · · · , an

	


0 < a1, a2, · · · , an < 1.

���� (
n∑

i=1

a1a2 · · · an

ai

)
− (n − 1)a1a2 · · · an < 1.

������������������Ǳ5� �

�Æ������������

	
���H��������������
�#�����

������
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��� 1 �������

”� 0 < p, q, r < 1�� pq + qr + pr − 2pqr < 1�”

����

(1) 	 0 < p, q, r < 1 �	

0 < pq < 1, 0 < qr < 1, 0 < pr < 1.

(2) 	 (1) �	

pq + qr + pr < 3.

(3) 	 0 < p, q, r < 1 �	 0 < pqr < 1��#�

2pqr < 2.

(4) �� (2) − (3) �	

pq + qr + pr − 2pqr < 3 − 2 = 1,

���

���������������

(A) �� (1) �����

(B) �� (2) �����

(C) �� (3) �����

(D) �� (4) �����

(E) ��
 ���(����

��� 1 ����

(1) � 0 < a, b < 1����

a + b − ab < 1.

(2) � 0 < p, q, r < 1����

pq + qr + pr − 2pqr < 1.
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����

(1) 	 a < 1, b < 1 �

a + b − ab − 1 = −(ab − a − b + 1)

= −(a − 1)(b − 1)

< 0

���

(2)

	

pq + qr + pr − 2pqr = pq + r(p + q − pq) − pqr

�� (1) ) a = p, b = q �

< pq + r − pqr

��� (1) ) a = pq, b = r �

< 1

��� �

��� 2 
����������� a	��������� b	

��	�� 1�

� �

(a) �� a = cos θ(0◦ < θ < 90◦)��� b 
 θ ����

(b) ��*66�����������	
 θ ����

(c) ����*66�����������	

≤ 1 +
√

2

2
.
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����

(a) �� a2 + b2 = 1�

 cos2 θ + b2 = 1��# b2 = sin2 θ��

b = sin θ�

(b) 	���	5��	��*66�����������	

�

(cos θ + sin θ) cos θ = cos2 θ + sin θ cos θ.

(c) 	 (b) ����*66�����������	�

cos2 θ + sin θ cos θ =
1

2
+

cos 2θ

2
+

sin 2θ

2

=
1

2
+

√
2 sin(2θ + π/4)

2

≤ 1 +
√

2

2
.

�

��� 3 Æ� 0 < a, b < 1���Ǳ�������������

a + b − ab < 1

�$���������� y = f(x) = (1 − a)x + a − 1���

f(0) = a − 1 < 0, f(1) = (1 − a) + a − 1 = 0,



� x = b ��f(b) < 0��

a + b − ab − 1 = (1 − a)b + a − 1 < 0,

���������������	���

� 0 < p, q, r < 1 �����

pq + qr + pr − 2pqr < 1

�$�

�������� 1 ���������� �
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���� 1 � 0 < p, q, r < 1����

pq + qr + pr − 2pqr < 1.

����
�� 1 ���
������#���������

(1) ���������	#���������
�����Æ

�2�*�	�'����
�
���������
�

(2) �
 �����������������

(3) ����	���$
�������$���������

(4) ������������������� n = 3 ��I�

�� n = 2 ������� n = 3 �������� n �


����	

�

���� 2 
����������� a	���������

b	��	�� 1������*66�����������	

≤ 1 +
√

2

2
.

� �

������
	
�����������������&

�������� A = a + b, B = b��� a2 + b2 = 1�



(A − B)2 + B2 = 1��

A2 + 2B2 = 1 + 2AB.


�����	� (a + b)b = AB����	���	

A2 + 2B2 = 1 + 2AB ⇒ 2
√

2AB ≤ A2 + 2B2 = 1 + 2AB

⇒ 2(
√

2 − 1)AB ≤ 1

⇒ AB ≤ 1 +
√

2

2
.

�
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4.2 ������

����
��(�,�(�(�����
� h5C��J��


����������!#������(
  �����

������� h 5C���	�	�����
��$���


�� ���!#����������	������#�

��$
���������������������
��

����

��� 4 
��
��P ����� h 5C��JJ�� B �

P 
07��-
��� B 
7�������"
 P �7�

O ����	���
 P ����
��	����� A�

O

B

A

P

r

h

(1) �7�� �� r 5&��� P, A ������
 r, h ��

	�

(2) 
 P �
��	����������� AB ����	


���*������� AB ������ AB ����

��������	�� h 17�� � r ����



∠ABP �8
����)7� � r = 6400 5&�� �


�� h 5C� P ��
��	�������

8

√
h

5

5&�

����������������
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(1) �� A ������

 PA �7����
3�����

PAO �������	�����	

PO2 = PA2 + AO2 ⇒ (r + 0.001h)2 = PA2 + r2.

��

PA =
√

0.002rh + 0.0012h2.

(2) ���	����� AB ����8
�� AB�"���

APB �8������

	�����	

PA2 = AB2 + PB2 ⇒ 0.002rh + 0.0012h2 = AB2 + (0.001h)2

⇒ AB =
√

0.002 × 6400h = 8

√
h

5
�5&	.
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5 �����������

�Æ��������

���!�:

��0�����������,
���� �
�
���

����������������
#���.������

�
���I���������������8������

��Æ����������

�
��������
�����?������� ��

� ��
#�������������������
1	

��������������	
�K	
���	���


��������
��������
#���������

��
������������������ ��#
��

���������������������
����#�

���/*�
��
�� ��� �,���������

�������������
����4�!4���1	�

������	���������������������

���������E�����	��,��
������

�������L��
�(���*����!������

�������
+�

 ��� ����
�����	

�������E��
�8��6-D�I���(�	��

�����������9�


��9��:���������,
���� �8�

��

���,
������
������Æ�
��!

�
���������!!�L!������'�#���

	�Ǳ���	:	�/������
����-���	�

�,
�	�����	��,
�L�����"�E@��

Ǳ	������ � �
'���"����������

��������"�������	�����������

��,���� Æ�
��#�����
"�����	M

��
���	#����
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 � ��:

��������������
���	���Ǳ�N
!�

�)�����	���"���������
���	�

����������Ǳ�*�5"�
������Ǳ���

�������!
����	�����������
��

���

'������G���������������

�����
����������	E����������



*0���;����/���������0�����

	���������������������0����Ǳ

��������!
�Ǳ��������	�<
���7

��

��Ǳ��9������3�����.�
��,



����������'������������
�$

�#���
�
����**��,��#�K������

������	
������*�
'������'���

������.������$�������������"

�������������
����(��@#����;

���;����-���O���



�Ǳ������9���7����
1��Ǳ�**

�������9�2������@����	$	�
��

����&�$
�������
�����������P

����*��
��������������������

�����������������E@��
������

��������%����
��@������';
��

�%�����������
��������������


������������������
'	��%��
�

�	�����������	��	�$��� �����

,�	��	������"��

�����"&<���

���(��	���P���

"� &<:

��3�
�����9�8�	�


 � ���	
�
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�9�����*�����
��������������

�������Ǳ���
��1	����������
�

�����Æ����	��G�
�����#�����1

�;���������Ǳ�*1	�4��&���#���

Ǳ1���Ǳ����,
������,
��
'����

Ǳ����&�����
�����
��
�������

1	$���%�

-��������9��
�����

��������
��	%�

���5��
�����

��	����Ǳ��!���������������,


�
������	
������#����������	

���6�����
������.�����������

�&��

�����������
���	��
�	��1	��

������������
���������������

 ������	��*���&��;��	
�����!

�

�Æ��	��I �����������

E@�����8��
�������
��������

�	
$������� ��������'��'�
��

������'��?��A$�8������

�����

�&	
�	
�������?�������	��
��

���	������������

��������A$�

��;#��������
����P;���������


#�'���
���	�	;���,������	��

�������%���������������(����

�1�� ��������
1�	�
���������

���"����������7�=�����������

����������%�����	�(
��������

�'	��������E@���������������

1�P���>	������#���@���������

��������������

�� 
������,


�P�����
��	�	1������(�����.�

�<
B���	
�	�A$��������������
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����	���
��������'�8�"����?�

(������@�4��������,��������


�
�,����
��	���������
������

���,��
	�%�����
�*����	�����

B�8��

 � ��:

*���"� �	
����������(�$��� �

�
����	;�

$� ���

��,
QA�����8�	�A$
����B�B�%�

������!����
�������8��������

��7�

�
�B�B������
�������P�

������	��������	�����
������

�������Ǳ�����������������	��

��	�� 82 �	 85 ������
��N���4�48

�����48����#�

	�;�Ǳ���
8��"

���8�	��
���
8��
���
��)����

����������������������!R����

��������I�������������!R���

(r(cos θ + i sin θ))n = rn(cosnθ + i sinnθ),

�� r ����n �������

8������
���

�������� E = r(cos θ + i sin θ)� E2 = E · E = r(cos θ +

i sin θ) · r(cos θ + i sin θ) = r2(cos 2θ + i sin 2θ)����

En = rn(cosnθ + i sinnθ),

�� n ��������
8,
�������������

�����������
�	�F���Ǳ�
��	��,

�
�������������
�����>��)8��
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�������	���,����������� ����

����	���������������������
�

�/*����������������,��
�,���

 �'���*�������������#������ 


���������� ���������������,


���������,��"C�'�/*��

����

����� ��C���-���������������

��)������E@8����Ǳ����
������

	;�

��
��	;���

���������������

������������1	*�������1	�*��

��������������
������	���1	�

���������
�
������
��	1	�����

��������1	*�����������������

���*����
������
��)��������


���
������
��
������Ǳ����Ǳ�#

��	
������1,�����
����������

�����������������$�1��
�����

�����E@Ǳ����
���	��

a

sin A
=

b

sin B
=

c

sin C
= 2R.

�
��Ǳ������
����������
�����

������������I��1������,�
� a, b, c


�
 R�������
�
��
�� �	������

����������������#���.�,�����

��������)�����,1�� 2R ���
�#��

� a 1 R ����

 a
2R
�	1 1

2 ���#�������

����	����
�
 1
2���������	�
�


1
2

������������
�
 30 �����������

� 180 ��

������
 30 ���������
 150

���������
������#,�!��������

����	���*�*�&��'�������3#���
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���
������	�������	���������

�
�,���	�������������

�������������������������
�

������	����
����0��$��I�����

������������
���
��

���D���

����

�������
��������������

��*1����3������ ������������

�����&
���1���-���	�������
�

���
�
�
�� �����,�����������


���,����������������,(������

������
�����������*1��
�����

����#���������
�����������


��� ��������,���������
 ��$

��

���&	������
����
�������

����	�������	
���&���������&

������������%�������

������

��,���� �������������	������


���������	
�,��:��S���
����

������:���	������8��
��
����

��������������

1�����������

���*���	��������
�
� ��#����

��*1��������������
���������

�	
���,��:��S���������Ǳ�����

����������������������������

������������I����
C, D �������

D �
 �
 C ������� D � ��
 C � ���

���������
&�����������������

 ��1���� ���������
�
�����+�

����������

�
�'������I�,���

����������������*�������,���

���

������ D � ��
 C  ��� D ����


 �
 C �����������,��	���(�#��
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����
,����������
� D 1 C ��
� D Æ

�
 
 C ������� D � ���1,�!�����

����������,������� Ǳ��������


����
����,� 3.14 %� D � �0����� D

��	��
 3.14%
 C � �0������1����3.14

�'�0��
0�����3�
�3���(�0���


�1	���������� ��'�����������

���

����

�����������������

9����	���
�������	�������
��

��Ǳ�Ǳ����
���������� ����
��


��'���
������!�	�����,��#?

	
�����������������������(�

� ∣∣∣∣∣∣∣∣
0 a b c
−a 0 d e

−b −d 0 f
−c −e −f 0

∣∣∣∣∣∣∣∣
,

�(�����4 × 4 ���� a, b, c, d, e, f 
�����
��

��(�����������(���
�L�������

*�(����
����������*<
����
��

����(���
��
��������#���	
��

75 �)%��������������������!���

���)����E����	������
�������

	��(����
���
��
��)����T(�
�

��$������Ǳ	+��
����'*)�,�1*�

����
�#�����I
����
#���*�
��


��������
���%������������1*

��
������
�4+��

.���	��	
��

����0�Ǳ0�Ǳ0��8���I����*��0�Ǳ


������
��
��
#���������I���

����������1*�������,1��
���	

�����
������
�����������*
 4 �

��
��6����8��������*'��������
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L����
�(�����
��
������:���:

������������,�������
�
���
*

��
�����������������������	�

����
,������������+��

��
��

���,;���)������	���
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= (1 − pq)(1 − r) + r(1 − p)(1 − q) > 0.

����*��
 0���*��
Ǳ�
��
 0�

��

���8���U�4��������\���*���
�

����

���Ǳ�����1%���	��������Ǳ	�



�����*1����#��Ǳ	��*1��
�1%�

)���
��!4���������4���������

���?��������

[	��
����������

Ǳ���������*�����$�����

����


���

p · q · 1 + 1 · q · r + p · 1 · r − 2p · q · r < 1 · 1 · 1.
�������
 ���'����Æ+
�Ǳ��� 1 ��

I�Æ������������#?�� p, q, r 
�
 0� 1�

����� p × q × 1 ������*���� p�� q��� 1

���			���
�1�����2Ǳ�����Æ�Æ�


� 1 �$�&��������� p× q × 1 ����	���

1 × q × r ����� 1����� q����� r ���	�	

	���
�����	�

�������
�&��	�

			'��� pqr�� pqr ���&��	���B����

�����	�		Ǳ����	',�������

��

��� p�� q�� r ���&��	�		��		!���

*��
��		��

,�		�����
 1 !�

�

����1%����*����
 1 (������	���

���������������������

48



�����1%�	�2���������������

�����������	�2���*���� p, q, r����

�����������'�

��1���
�7����

��
������������� p, q, r ���Æ���� n

������� a1 	 an 
�A
 0 � 1 ����������(
n∑

i=1

a1a2 · · · an

ai

)
− (n − 1)a1a2 · · · an < 1.

�
�1�� n !� 3 �����5������
���5

��
� n !� 2 �����	��!�
�	����5��

���� a + b− ab < 1 ��5����1 n !� 1�����


�� 1 − a < 1��	�	 a > 0�	
�����������

����n 

��n �� 1, 2, 3, · · · 	
��

��Ǳ���
������
���,���
�������������



�#������������������������

��	����������	�#����
Ǳ�	���

���*����Ǳ��
���������������#

? ���
(����$	�#����$���

����

����,�����,��
������
�������

���
����,
������������������

��?���������

�������

�� 0 < p, q, r < 1�� pq + qr + pr − 2pqr < 1��

����

(1) 	 0 < p, q, r < 1 �	

0 < pq < 1, 0 < qr < 1, 0 < pr < 1.

(2) 	 (1) �	

pq + qr + pr < 3.

(3) 	 0 < p, q, r < 1 �	 0 < pqr < 1��#�
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,���� 1���	�,�


pq + r − pqr��������!�1 pq �� a�r �� b���

�� a + b− ab�

�����I���
�,
�
�
$�
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���� a + b − ab < 1�����,	����������


�	�
��������������,�����

�����������������	���,�
� a, b


 0 � 1 ���Ǳ��������� a + b − ab < 1����

���'�����������1 a ���Æ���1 b �

x�� f(x) = a + x − ax��� f(0) = a < 1, f(1) = 1�



f(b) = a + b − ab < 1��
�
���4+���
���-�

�� pq + qr + rp− 2pqr < 1���1 p � q �Æ���1 r ��

x�����������
 0 � 1 ����

�
 0��1 r

��;��
 0�

������
�,������������#����

������D�������,����
�	����I��

��


����Ǳ�	&����I����
��������

��� a	��������� b	��	�� 1�

� �

����*66�����������	

≤ 1 +
√

2

2
.

������1���	�� 1 ��������
�����

�5I������	������ 1+
√

2
2 ��
$����)�

��
$��,����� 1+
√

2
2 ���'���� a2 + b2 = 1�

����������	�� 1	���Ǳ��:���*�


��� a � b���Ǳ�	��� a = cos θ, b = sin θ�
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